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NZ w27 15 b E HEE Y 15,000kg
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CH4HEH |N20OHEH |CO2HEH |CO2HEH |/ANE
kg/L-85 |kg/LHY BB | mm
o/km (oM U ;? 1”’ b &kl
rSwvotmx (BrSwvo) 0.01 0.01 2.3221HVU> I 36% 350
~SwoEmx (T4 ~>) 0.01 0.01 2.322|AVU> 36% 700
~SwoEmix (1.5~ EH) 0.0076 0.008 2.619 25/ 42% 1500
NS w ot (2 h>E) 0.0076 0.008 2.619 [ 58% 2000
NS v otmix (4 ~2ER) 0.015 0.015 2.619 25/ 62% 4000
NS w o (10 b2 E) 0.015 0.015 2.619 [ 62% 10000
S w ok (15 h>E) 0.015 0.015 2.619 25/ 62% 15000
NS woEix (20 b2 E) 0.015 0.015 2.619 [ 62% 20000
F>o0—-Y—#nX (FEEE10kY 0.013 0.025 2.619 5/ 62% 8500
SF>oO—Y—#Enx (EsE16kU 0.013 0.025 2.619 25 62% 13200
F>o0—Y—#nX (FEEE20k 0.013 0.025 2.619 5/ 62% 15000
Hig [1] [1] [3] [3] - [2] [4]
ER FT4—EILE[L/tkm]: =e N (2.71 -0.812 In (x/100) -0.654 In z) - [2]
HYYUE[L/tkm]: =e N (2.67 -0.927 In (x/100) -0.648 In z) -0 [2]
. T BATBE |y g0, - |EFTEERE CHalke/tk [N20[ke/tk prm |poamys [P #H#
HIEFER EEE B kel E&i=kel [kmy/tkm] CH4[g/km] [N20[g/km] ml m] L/tkm CO2lke/L] |CO2Ike/LI% Er:])]Ze[kg/t /L] [thkm/L]
rowvoimx B>y 100%[tkm 350 350 2.86 0.01 0.01| 2.86E-05| 2.86E-05 0.0 -38| 3.2.E-01 2.3 0.3] 8.7.E-01 88E+00| 3.1.E+00
rSwokmx (BEhSvo 75%|tkm 350 263 3.81 0.01 0.01| 381E-05| 381E-05 0.3 -38| 4.2.E-01 2.3 0.3] 11.E+00| 90E+00| 24E+00
rowvoimx (BhSvo 50%|tkm 350 175 5.71 0.01 0.01| 571E-05| 5.71E-05 0.6 -38| 6.2.E-01 2.3 0.3| 1.7.E+00| 9.3E£+00 1.6.E+00
rSwokmx (BEhSvo 36%|tkm 350 126 7.94 0.01 0.01( 7.94E-05| 7.94E-05 0.9 -38| 8.4.E-01 2.3 0.3] 28E+00| 9.5E+00 1.2.E+00
rowvoimx (BhSvo 25%|tkm 350 88 11.43 0.01 0.01] 1.14E-04| 1.14E-04 1.3 -3.8 1.2.E+00 2.3 0.3| 8.2E+00| 97F+00| 85E-01
rSwokmx (BEhSvo 10%|tkm 350 35 28.57 0.01 0.01| 2.86E-04] 2.86E-04 2.1 -38| 2.7.E+00 2.3 0.3| 7.4E+00 1.0E+01| 36E-01
~Swokmx (BrSvo 0%|km 350 0 0.01 0.01 2.3 03| 26.E-01 1.0.E+01
~Sw otk (510 ~> 100%|tkm 700 700 1.43 0.01 0.01| 1.43E-05| 1.43E-05 0.0 -42|  2.1.E-01 2.3 0.3] 5.6.E-01 69E+00| 4.8E+00
rSwvoimx (51~ 75%|tkm 700 525 1.90 0.01 0.01] 1.90E-05| 1.90E-05 0.3 -42|  2.7.E-01 2.3 0.3] 7.3.E-01 7.0E+00|  3.7.E+00
~Sw otk (510 ~> 50%|tkm 700 350 2.86 0.01 0.01| 2.86E-05| 2.86E-05 0.6 -42|  3.9.E-01 2.3 0.3 1.1.E+00| 73£+00| 25E+00
rSwvoimx (51~ 36%|tkm 700 252 3.97 0.01 0.01| 3.97E-05| 3.97E-05 0.9 -42| 5.3.E-01 2.3 0.3| 1.4E+00| 74F+00 1.9.E+00
S w otk (51 ~> 25%|tkm 700 175 5.71 0.01 0.01 571E-05| 5.71E-05 1.3 -4.2 7.5.E-01 2.3 0.3| 20E+00| 76.£+00 1.3.E+00
rSwvoimx (51~ 10%|tkm 700 70 14.29 0.01 0.01] 1.43E-04| 1.43E-04 2.1 -42 1.7.E+00 2.3 0.3| 4.7E+00| 82F+00| &57E-01
~Sw okmx (S ~> 0%|km 700 0 0.01 0.01 2.3 03] 33E-01 8.2 E+00
~NSwomx (1.5~>E 100%|tkm 1500 1,500 0.67| 0.0076 0.008| 5.07E-06] 5.33E-06 0.0 -48| 1.3.E-01 2.6 02| 3.5.E-01 53E+00|  7.9E+00
~Sw ok (1.5h>E 75%|tkm 1500 1,125 0.89 0.0076 0.008| 6.76E-06] 7.11E-06 0.2 -48| 1.6.E-01 2.6 02| 44E-01| 56E+00| 63E+00
~NSwomx (1.5~ 8 50%|tkm 1500 750 1.33] 0.0076 0.008( 1.01E-05| 1.07E-05 0.6 -48| 2.2E-01 2.6 02| 6.2.E-01 60E+00| 4.5E+00
~Sw ok (1.5h>E 42%|tkm 1500 630 159 0.0076 0.008| 1.21E-05| 1.27E-05 0.7 -48| 25E-01 2.6 02| 71E-01| 62E+00| 39.E+00
~NSwomx (1.5~ 8 25%|tkm 1500 375 267 0.0076 0.008| 2.03E-05| 2.13E-05 1.1 -48| 3.9.E-01 2.6 02| 1.1.E+00| 69EF+00| 26.E+00
~Sw ok (1.5h>E 10%|tkm 1500 150 6.67] 0.0076 0.008| 507E-05| 5.33E-05 1.9 -48| 8.2E-01 2.6 02| 283E+00| &82E+00| 12E+00
NS woamx (1.5~ 8 0%|km 1500 0 0.0076 0.008 2.6 0.2 3.4.E-01 8.2 E+00
~Sw ok 282 E 100%|tkm 2000 2,000 050 0.0076 0.008| 3.80E-06] 4.00E-06 0.0 -50[ 1.0.E-01 2.6 02| 29E-01| 48E+00| 9.6E+00
rSwotmx (2h>E 75%|tkm 2000 1,500 067 0.0076 0.008( 5.07E-06] 5.33E-06 0.2 -50| 1.3.E-01 2.6 02| 3.7.E-01 51.E+00| 7.6E+00
~Sw ok 282 E 58%|tkm 2000 1,160 0.86| 0.0076 0.008| 6.55E-06] 6.90E-06 0.4 -50[ 1.6.E-01 2.6 02| 45E-01| 53E+00| 62E+00
~Swotmx (252 E 50%|tkm 2000 1,000 1.00] 0.0076 0.008( 7.60E-06] 8.00E-06 0.6 -5.0| 1.8.E-01 2.6 02| 5.1.E-01 55E+00|  5.5E+00
~Sw ok 282 E 25%|tkm 2000 500 2.00] 0.0076 0.008| 152E-05| 1.60E-05 1.1 -50( 3.2.E-01 2.6 02| 9.0E-01| 62E+00| 31E+00
~Swotmx (252 E 10%|tkm 2000 200 500 0.0076 0.008( 3.80E-05| 4.00E-05 1.9 -50[ 6.8.E-01 2.6 02| 1.9.E+00| 74F+00| 1.5E+00
v otk (228 0%|km 2000 0 0.0076 0.008 2.6 02| 3.8.E-01 7.4.E+00
~Swotmx (4 2B 100%|tkm 4000 4,000 0.25 0.015 0.015( 3.75E-06| 3.75E-06 0.0 -54|  6.6.E-02 2.6 02| 18E-01| 38F+00| 1.5E+01
~Sw ok (4 2B 75%|tkm 4000 3,000 0.33 0.015 0.015| 5.00E-06] 5.00E-06 0.2 54| 8.4.E-02 2.6 02| 23E-01| 40F+00| 12E+01
rSwOtmx (4 h>E 62%|tkm 4000 2,480 0.40 0.015 0.015( 6.05E-06] 6.05E-06 0.4 -54| 9.8.E-02 2.6 02| 217E-01| 471E+t00| 1.0E+01
~Sw ok (4 2B 50%|tkm 4000 2,000 0.50 0.015 0.015| 7.50E-06] 7.50E-06 0.6 -54  1.2.E-01 2.6 02| 3.2E-01| 43EF+00| 86FE+00
~Swotmx (4 2B 25%|tkm 4000 1,000 1.00 0.015 0.015| 1.50E-05| 1.50E-05 1.1 -5.4 2.0.E-01 2.6 02| 5.7.E-01 49F+00| 4.9.E+00
~NSw ok (4 2B 10%|tkm 4000 400 2.50 0.015 0.015| 3.75e-05| 3.75E-05 1.9 -5.4| 4.3.E-01 2.6 02| 1.2E+00| 58E£+00| 23E+00
~SwoEnx (4 ~> B 0%|km 4000 0 0.015 0.015 2.6 02| 48E-01| &s8F+00
~Sw otk (10 h>E 100%|tkm 10000 10,000 0.10 0.015 0.015| 1.50E-06] 1.50E-06 0.0 -6.0| 3.6.E-02 2.6 02| 1.0E-01| 27E+00| 27E+01
~SwoEmx (10 h>E 75%|tkm 10000 7,500 0.13 0.015 0.015( 2.00E-06] 2.00E-06 0.2 -6.0| 4.6.E-02 2.6 02| 1.3.E-01 29E+00| 22E+01
~Swokaix (10 h>E 62%|tkm 10000 6,200 0.16 0.015 0.015| 2.42E-06] 2.42E-06 0.4 -6.0| 5.4.E-02 2.6 02| 15E-01| 30F+00| 19E+01
~Sw Okmx (10 h>E 50%|tkm 10000 5,000 0.20 0.015 0.015| 3.00E-06] 3.00E-06 0.6 -6.0] 6.4.E-02 2.6 02| 1.8E-01| 37.E+00| 16E+01




~Sw Oknx (10 h>E 25%|tkm 10000 2,500 0.40 0.015 0.015| 6.00E-06] 6.00E-06 1.1 -6.0|  1.1.E-01 2.6 02| 3.1.E-01| 36EF+00| 89E+00
~Sw Uik (10 h>E 10%|tkm 10000 1,000 1.00 0.015 0.015| 1.50E-05| 1.50E-05 1.9 -6.0| 2.4.E-01 2.6 02| 6.6.E-01| 42E£+00| 42E+00
S w Ok (10 h>E 0%|km 10000 0 0.015 0.015 2.6 02| 6.8.E-01| 42F+00
~Swokaix (15828 100%|tkm 15000 15,000 0.07 0.015 0.015] 1.00E-06] 1.00E-06 0.0 -6.3| 2.8.E-02 2.6 02| 78E-02| 24F+00| 36E+01
~Sw Okmnx (15> 8 75%|tkm 15000 11,250 0.09 0.015 0.015| 1.33E-06] 1.33E-06 0.2 -6.3] 3.5.E-02 2.6 02| 9.8E-02| 25F+0| 28FE+01
~Sw ok (15828 62%|tkm 15000 9,300 0.11 0.015 0.015| 1.61E-06] 1.61E-06 0.4 -6.3|  4.1.E-02 2.6 02| 1.1.E-01| 26F+00| 24E+01
~Sw Okmx (15h>8 50%|tkm 15000 7,500 0.13 0.015 0.015( 2.00E-06] 2.00E-06 0.6 -6.3] 4.9.E-02 2.6 02| 14E-01| 27E+0| 20E+01
NS wosmx (1588 25%|tkm 15000 3,750 0.27 0.015 0.015| 4.00E-06] 4.00E-06 1.1 -6.3| 8.6.E-02 2.6 02| 24E-01| 37.E+00| 12E+01
~Sw Okmx (15h>8 10%|tkm 15000 1,500 0.67 0.015 0.015( 1.00E-05| 1.00E-05 1.9 -6.3| 1.8.E-01 2.6 02| 51E-01| 37E+00| 55E+00
~Sw ok (15828 0%|km 15000 0 0.015 0.015 2.6 02| 1.8.E-01| 37£+00

~Sw Okx (20 h>E 100%|tkm 20000 20,000 0.05 0.015 0.015( 7.50E-07| 7.50E-07 0.0 -6.5| 2.3.E-02 2.6 02| 6.4E-02| 22f£+00| 43E+01
~NSwoEx (20 b B 75%|tkm 20000 15,000 0.07 0.015 0.015( 1.00E-06] 1.00E-06 0.2 -6.5 2.9.E-02 2.6 02| 8.1.E-02| 23F+00| 34E+01
~Sw Okmx (20 h>E 62%|tkm 20000 12,400 0.08 0.015 0.015| 1.21E-06] 1.21E-06 0.4 -6.5| 3.4.E-02 2.6 02| 95E-02| 24F+00| 29E+01
~SwoEx (20 b B 50%|tkm 20000 10,000 0.10 0.015 0.015( 1.50E-06| 1.50E-06 0.6 -6.5| 4.1.E-02 2.6 02| 1.1.E-01 25E+00| 2.5E+01
~Sw Oknx (20 h>E 25%|tkm 20000 5,000 0.20 0.015 0.015| 3.00E-06] 3.00E-06 1.1 -6.5| 7.1.E-02 2.6 02| 20E-01| 28F+0| 14E+01
NS woEx (20 B 10%|tkm 20000 2,000 0.50 0.015 0.015| 7.50E-06| 7.50E-06 1.9 -6.5| 1.5.E-01 2.6 02| 4.2E-01| 33EF+00| 6.7E+00
~Sw ok (20 k> E 0%|km 20000 0 0.015 0.015 2.6 02| 84E-01| 33F+00
A>o0- -k (EE=10ky 100%|tkm 8500 8,500 0.12 0.013 0.025( 1.53E-06| 2.94E-06 0.0 -59 4.0.E-02 2.6 02| 1.1.E-01| 29F+00| 25E+01
F>oO0—Y—#&x (FEH=Z10kY 75%|tkm 8500 6,375 0.16 0.013 0.025( 2.04E-06| 3.92E-06 0.2 -59| 5.1.E-02 2.6 02| 14E-01| 37.E+00| 20E+01
A>o0—- -k (EE=10ky 62%|tkm 8500 5270 0.19 0.013 0.025| 2.47E-06| 4.74E-06 0.4 -59  6.0.E-02 2.6 02| 1.7.E-01| 32F+00| 1.7.E+01
F>oO0—-Y—#x (FEH=Z10kY 50%|tkm 8500 4,250 0.24 0.013 0.025( 3.06E-06] 5.88E-06 0.6 -59  7.1.E-02 2.6 02| 20E-01| 33E+00| 14E+01
A>o0— -k (FE#E=10kY 25%|tkm 8500 2,125 0.47 0.013 0.025( 6.12E-06] 1.18E-05 1.1 -5.9 1.2.E-01 2.6 02| 35E-01| 38F+00| 80E+00
~F>oO0—-Y—#&x (FEH=Z10kY 10%|tkm 8500 850 1.18 0.013 0.025( 1.53E-05| 2.94E-05 1.9 -59] 2.6.E-01 2.6 02| 74E-01| 45E+00| 38E+00
A>o0—Y -k (FE#=10k] 0%|km 8500 0 0.013 0.025 2.6 02| 6.3.E-01| 45F£+00
~F>oO0—-Y—#nx (&= 16k 100%|tkm 13200 13,200 0.08 0.013 0.025( 9.85E-07| 1.89E-06 0.0 -6.2| 3.0.E-02 2.6 02| 85E-02| 25E+00| 33E+01
A>o0—- -k (EE=E16kY 75%|tkm 13200 9,900 0.10 0.013 0.025| 1.31E-06| 2.53E-06 0.2 -6.2| 3.8.E-02 2.6 02| 1.1.E-01| 26EF+00| 26E+01
F>oO0—-Y—#nx (EH=16kY 62%|tkm 13200 8,184 0.12 0.013 0.025( 1.59E-06| 3.05E-06 0.4 -6.2| 45.E-02 2.6 02| 12E-01| 27E+0| 22E+01
A>o0—- -k (EE=E16kY 50%|tkm 13200 6,600 0.15 0.013 0.025| 1.97E-06| 3.79E-06 0.6 -6.2| 5.3.E-02 2.6 02| 15E-01| 28F+00| 19.E+01
~F>oO—-Y—#nx (EH=16kY 25%|tkm 13200 3,300 0.30 0.013 0.025( 3.94E-06| 7.58E-06 1.1 -6.2| 9.4E-02 2.6 02| 26E-01| 32EF+00| 1.1.E+01
A>o0—- -k (EE=16kY 10%|tkm 13200 1,320 0.76 0.013 0.025( 9.85E-06| 1.89E-05 1.9 -6.2| 2.0.E-01 2.6 02| 55E-01| 38F+00| &51.E+00
~>oO0—Y—&x (FEH=16kY 0%|km 13200 0 0.013 0.025 2.6 02| 7.3E-01| 38FE+00
A>o0—- -k (E#E=20k] 100%|tkm 15000 15,000 0.07 0.013 0.025( 8.67E-07| 1.67E-06 0.0 -6.3| 2.8.E-02 2.6 02| 18E-02| 24F+00| 36E+01
F>oO—-Y—#x (FEH=20kY 75%|tkm 15000 11,250 0.09 0.013 0.025( 1.16E-06| 2.22E-06 0.2 -6.3] 3.5.E-02 2.6 02| 98E-02| 25E+00| 28E+01
A>o0—- -k (E#E=20k] 62%|tkm 15000 9,300 0.11 0.013 0.025| 1.40E-06| 2.69E-06 0.4 -6.3|  4.1.E-02 2.6 02| 1.1.E-01| 26F+00| 24E+01
~F>oO—-Y—#x (FE&H=20kY 50%|tkm 15000 7,500 0.13 0.013 0.025( 1.73E-06| 3.33E-06 0.6 -6.3] 4.9.E-02 2.6 02| 14E-01| 27E+00| 20E+01
A>o0—- -k (E#E=20k] 25%|tkm 15000 3,750 0.27 0.013 0.025( 3.47E-06] 6.67E-06 1.1 -6.3| 8.6.E-02 2.6 02| 24E-01| 31E+00| 12E+01
> oO-Y—#x (FE&H=20kY 10%|tkm 15000 1,500 0.67 0.013 0.025( 8.67E-06] 1.67E-05 1.9 -6.3] 1.8.E-01 2.6 02| 5AE-01| 37E+00| &5E+00
S>o0—Y -k (FE#=E20k] 0%|km 15000 0 0.013 0.025 2.6 02| 178E-01| 37£+00
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rowvoimx B>y 100%|tkm 3.2.E-01 75E-01] 2.86E-05| 2.86E-05| 7.6.E-01

rSwokmx (BEhSvo 75%|tkm 4.2 E-01 9.8.E-01] 3.81E-05| 3.81E-05 1.0.E+00

rowvoimx B>y 50%|tkm 6.2.E-01 1.4E+00( 5.71E-05| 5.71E-05 1.5.E+00

rSwokmx (BEhSvo 36%|tkm 8.4.E-01 1.9.E+00| 7.94E-05| 7.94E-05 2.0.E+00

rovoimx (BrSvo 25%|tkm 1.2.E+00 2.7.E+00] 1.14E-04| 1.14E-04| 2.8.E+00

rSwokmx (BEhSvo 10%|tkm 2.7.E+00 6.4E+00| 2.86E-04| 2.86E-04 6.5.E+00

rSvoimx (BrSvo 0%|km 9.6.E-02 2.2E-01] 1.00E-05| 1.00E-05( 2.3.E-01

~Sw otk (510 ~> 100%|tkm 2.1.E-01 48E-01| 1.43E-05| 1.43E-05 4.9 E-01

~Swvoimx (51 M 75%|tkm 2.7.E-01 6.3.E-01] 1.90E-05| 1.90E-05| 6.3.E-01

S wokmx (S ~> 50%|tkm 3.9.E-01 9.1.E-01] 2.86E-05| 2.86E-05 9.2.E-01

~Swvoimx (51 M 36%|tkm 5.3.E-01 1.2.E+00| 3.97E-05| 3.97E-05 1.3.E+00

S wokmx (510 ~> 25%|tkm 7.5.E-01 1.7E+00| 5.71E-05] 5.71E-05 1.8.E+00

~Swvoimx (51 M 10%|tkm 1.7.E+00 41E+00] 1.43E-04| 1.43E-04| 4.1.E+00

S wokmx (51 ~> 0%|km 1.2.E-01 28E-01] 1.00E-05| 1.00E-05( 2.9.E-01

~Swotmx (1.5~ EH 100%|tkm 1.3.E-01 33.E-01| b507E-06| 5.33E-06| 3.3.E-01

~Sw Uik (1.5h>E8 75%|tkm 1.6.E-01 42E-01| 6.76E-06| 7.11E-06] 4.2.E-01

~Swvotmx (1.5~ EH 50%|tkm 2.2.E-01 58.E-01| 1.01E-05| 1.07E-05| 5.8.E-01

~Sw ok (1.5h>E 42%|tkm 2.5.E-01 6.7.E-01| 1.21E-05| 1.27E-05| 6.7.E-01

~Swvotmx (1.5~ EH 25%|tkm 3.9.E-01 1.0.E+00( 2.03E-05| 2.13E-05 1.0.E+00

~Sw Uik (1.5h>E8 10%|tkm 8.2.E-01 21.E+00| 5.07E-05| 5.33E-05| 2.2.E+00

~Sw ok (1.5 ~> & 0%|km 1.2.E-01 3.2.E-01| 7.60E-06| 8.00E-06( 3.2.E-01

~Sw ok (22 E 100%|tkm 1.0.E-01 2.7E-01| 3.80E-06| 4.00E-06| 2.7.E-01

~Swvotmx (252 E 75%|tkm 1.3.E-01 34E-01| b507E-06| 5.33E-06| 3.5.E-01

~Sw ok (2~ E 58%|tkm 16.E-01| 4.2E-01| 655E-06] 6.90E-06] 4.3E-01

~SwOtmx (2h2E 50%|tkm 1.8.E-01 48E-01| 7.60E-06| 8.00E-06] 4.8.E-01

~Swokmx 2h2E 25%|tkm 3.2.E-01 8.4.E-01| 1.52E-05] 1.60E-05 8.5.E-01




~Sw Okmx (2> E 10%|tkm 6.8.E-01 1.8E+00| 3.80E-05| 4.00E-05| 1.8.E+00
~Sw ok (2 2B 0%|km 1.4.E-01 35E-01] 7.60E-06] 8.00E-06] 3.6.E-01
~Sw Oknx (4> B 100%[tkm 6.6.E-02 1.7.E-01| 3.75E-06| 3.75E-06 1.7.E-01
~Sw ok (4 2B 75%|tkm 8.4E-02| 22E-01| 500E-06| 500E-06] 2.2.E-01
~Sw Oknx (4B 62%|tkm 9.8E-02] 26E-01| 6.05E-06] 6.05E-06] 2.6.E-01
~Sw ok (4 2B 50%|tkm 1.2.E-01] 3.0.E-01| 7.50E-06| 7.50E-06  3.1.E-01
~Sw Okmx (4B 25%|tkm 2.0.E-01 5.3.E-01| 1.50E-05| 1.50E-05| 5.4.E-01
~Sw ok (4 2B 10%|tkm 43.E-01 1.1.E+00( 3.75E-05| 3.75E-05| 1.1.E+00
~Sw Oknx (4 2B 0%|km 1.7.E-01 45E-01| 1.50E-05| 1.50E-05| 4.6.E-01
~Swokaix (10 b2 B 100%|tkm 36.E-02| 95.E-02| 1.50E-06| 1.50E-06| 9.6.E-02
~Sw Okmx (10 h>E 75%|tkm 4.6.E-02 1.2.E-01| 2.00E-06| 2.00E-06 1.2.E-01
~Swokaix (10 b2 B 62%|tkm 5.4E-02 1.4E-01| 2.42E-06| 2.42E-06 1.4E-01
~Sw Okmx (10 h>E 50%|tkm 6.4.E-02 1.7.E-01| 3.00E-06| 3.00E-06 1.7.E-01
~Swokaix (10 h>E 25%|tkm 1.1.E-01 29.E-01| 6.00E-06| 6.00E-06( 3.0.E-01
~Sw Okmx (10 h>E 10%|tkm 2.4E-01 6.2.E-01| 1.50E-05| 1.50E-05| 6.2.E-01
~Sw ok (10 h>E 0%|km 2.4E-01 6.2.E-01| 1.50E-05| 1.50E-05| 6.2.E-01
~Sw Ok (1528 100%[tkm 28E-02| 7.3E-02| 1.00E-06| 1.00E-06| 7.3.E-02
~Sw ok (15828 75%|tkm 35E-02| 9.2.E-02| 1.33E-06| 1.33E-06| 9.3.E-02
~Sw Ok (1528 62%|tkm 41E-02 1.1.E-01| 1.61E-06] 1.61E-06 1.1.E-01
~Sw ok (15828 50%|tkm 49E-02 1.3.E-01| 2.00E-06| 2.00E-06 1.3.E-01
~Sw Ok (15h>8 25%|tkm 86.E-02| 23E-01| 4.00E-06| 4.00E-06| 2.3.E-01
~Sw ok (15828 10%|tkm 1.8.E-01 47E-01| 1.00E-05| 1.00E-05| 4.8.E-01
~Sw Otk (15~ &8 0%|km 2.7.E-01 71.E-01| 1.50E-05| 1.50E-05( 7.2.E-01
~Sw oz (20 h>E 100%|tkm 2.3E-02| 6.1.E-02| 7.50E-07| 7.50E-07| 6.1.E-02
~Sw Otk (20 h>E 75%|tkm 29E-02| 7.7.E-02| 1.00E-06| 1.00E-06| 7.7.E-02
~Swokmix (20 h>E 62%|tkm 34E-02| 89E-02| 1.21E-06| 1.21E-06| 9.0.E-02
~Sw Otk (20 h>E 50%|tkm 41.E-02 1.1.E-01| 1.50E-06| 1.50E-06 1.1.E-01
~Swokmix (20 h>E 25%|tkm 7.1E-02 1.9.E-01| 3.00E-06| 3.00E-06 1.9.E-01
~Sw Otk (20 h>E 10%|tkm 1.5.E-01 39E-01 7.50E-06| 7.50E-06| 4.0.E-01
~Sw ok (20 h>E 0%|km 3.0.E-01 7.9.E-01| 1.50E-05| 1.50E-05| 7.9.E-01
> oO—-Y—#x (&&= 10kY 100%|tkm 4.0.E-02 1.1.E-01| 1.53E-06| 2.94E-06 1.1.E-01
> oO0—Y—#Enx (FEsE10kU 75%|tkm 51E-02| 1.3E-01| 2.04E-06] 3.92E-06] 1.4.E-01
~F>oO0—-Y—#x (FEH=10kY 62%|tkm 6.0.E-02 1.6.E-01| 2.47E-06| 4.74E-06 1.6.E-01
> oO0—Y—#Enx (FEsE10kU 50%|tkm 7.1.E-02| 1.9.E-01| 3.06E-06] 5.88E-06] 1.9.E-01
~F>oO—-Y—#&x (&&= 10kY 25%|tkm 1.2.E-01 33.E-01| 6.12E-06 1.18E-05| 3.3.E-01
> oO0—Y—#Enx (FEsE10kU 10%|tkm 2.6.E-01 6.9.E-01 1.53E-05 2.94E-05| 7.0.E-01
~F>oO0—Y—#&hx (FEH=10kY 0%|km 2.2 E-01 58E-01 1.30E-05| 2.50E-05| 5.9.E-01
> oO0—Y—Ex (fEsE16kU 100%|tkm 30E-02| 7.9E-02 9.85E-07| 1.89E-06] 8.0.E-02
~>oO—-Y—#nx (EH=16kY 75%|tkm 38E-02| 10E-01| 1.31E-06| 253E-06] 1.0.E-01
A>o0—-U -k (EsE=E16kY 62%|tkm 45E-02 1.2.E-01| 1.59E-06| 3.05E-06 1.2.E-01
~>oO—-Y—#Enx (EsH=16kY 50%tkm 53E-02| 14E-01| 197E-06] 3.79E-06] 1.4.E-01
S>oO0—Y—&Ex (fEsE16kU 25%|tkm 9.4E-02| 24E-01| 3.94E-06| 7.58E-06| 2.5.E-01
~>oO—-Y—#Enx (EsH=16kY 10%|tkm 2.0.E-01 52E-01 9.85E-06] 1.89E-05| 5.2.E-01
S>o0—Y -k (Es=E16k 0%|km 26E-01| 6.8E-01| 1.30E-05| 250E-05| 6.9.E-01
> oO0—-Y—#Enx (E&H=20kY 100%|tkm 28E-02| 7.3E-02| 867E-07| 167E-06| 7.4.E-02
> oO0—Y—&x (FEs=E20kU 75%|tkm 35E-02| 9.2E-02| 1.16E-06| 2.22E-06] 9.3.E-02
> oO0—-Y—#&nx (E&H=20kY 62%|tkm 41E-02| 1.1E-01| 1.40E-06| 2.69E-06] 1.1.E-01
A>o0—U -k (EE=20k] 50%|tkm 4.9.E-02 1.3E-01| 1.73E-06| 3.33E-06 1.3.E-01
> oO—-Y—#nx (E&H=20kY 25%|tkm 86.E-02| 23E-01| 347E-06| 6.67E-06] 2.3.E-01
> o0—Y—@Ex (FEs=E20kU 10%|tkm 1.8.E-01 47E-01| 867E-06| 1.67E-05| 4.8.E-01
~>oO0—Y—#&x (EH=20kY 0%|km 2.7.E-01 7.1E-01] 1.30E-05| 2.50E-05| 7.2.E-01




